Assess Harry's Assignment

Circle the correct assessment code (the button that should be clicked in the app)

1 | place value: integer (4) q4
480 *x o~ 4
2 | fraction of NC (1) g8 (%:5 ~3 Y4 )d:4
\frac{1}{8} bin H ~ 4
3 |inequality equality expression (1) g8 (K:6 ~2 ¥:7 )d:3
-1,0,1,2,3,4 bin % ~ 4
4 | multiply no calc (1) q17 (K:7 ~2 ¥:3)d:2
36 bin  * ~ v
5 | negative no calc (3) ql (%:0 ~2 ¥:3)d:4
3 bin  * ~ v
6 | number machine & functions (2) q13 (%:6 ~5 v:3)d:2
40 bin * ~ ¢
7 | FDPR as NC (1) q3
(i) \frac{41}{100} *x o~ 4
(i1) 41
8 | simplify +/- (2) q14
6y * ~ Vv
9 | value of: index (1) g5 (K:d ~2 V5 )d:5
Yes, Guy has worked out 10x10 correctly OR 102 = 10x10 bin % ~ v
10 | write in algebra (1) q2
a+c+p *x ~ Vv
11 | x/= by 10/100/1000 (4) q12
14000 * o~ 4
12 | Venn (1) q7 (%:3 ~1 v:1 )d:2

ANB' ={=¢.A} ANB={-} ANB={.O}
A'NB'={A 0}

AMNB B1, everything else B1

bin % ~ v

The blue bar shows: on the left the question number in the assignment. The next
section shows the topic, (the layer number) and the layer question number.

For fragile layers on the right of the blue bar (the total number of each assessment
code the learner has had) and the depth of learning for the layer are shown too.




